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QUESTION 1

Refer to the exhibits. Exhibit A: 

Exhibit B: 

Exhibit A shows the SD-WAN rules and exhibit B shows the traffic logs. The SD-WAN traffic logs reflect how FortiGate
distributes traffic. Based on the exhibits, what are two expected behaviors when FortiGate processes SD-WAN traffic?
(Choose two.) 

A. The first Vimeo session may not match the Vimeo SD-WAN rule because the session is used for the application
learning phase. 

B. The implicit rule overrides all other rules because parameters widely cover sources and destinations. 

C. The Vimeo SD-WAN rule steers Vimeo application traffic among all SD-WAN member interfaces. 

D. SD-WAN rules are evaluated in the same way as firewall policies: from top to bottom. 

Correct Answer: AD 

 

 

QUESTION 2

Refer to the exhibit 
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Which statement about the ADVPN device role in handling traffic is true? 

A. Two spokes 100.64.3.1 and 10.1.2. 254 forward their queries to their hubs 

B. This is a hub that has received a query from a spoke and has forwarded it to another spoke 

C. This is a spoke that has received a query from a remote hub and has forwarded the response to its hub 

D. Two hubs. 10.1.1.254 and 10.1.2.254, are receiving and forwarding queries between each other 

Correct Answer: B 

 

QUESTION 3

What are two reasons why FortiGate would be unable to complete the zero-touch provisioning process? (Choose two.) 

A. The FortiGate cloud key has not been added to the FortiGate cloud portal. 

B. FortiDeploy has connected with FortiGate and provided the initial configuration to contact FortiManager 

C. The zero-touch provisioning process has completed internally, behind FortiGate. 

D. FortiGate has obtained a configuration from the platform template in FortiGate cloud. 

E. A factory reset performed on FortiGate. 

Correct Answer: AC 

 

QUESTION 4

Refer to exhibits. 
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Exhibit A shows the source NAT global setting and exhibit B shows the routing table on FortiGate. 

Based on the exhibits, which two statements about increasing the port2 interface priority to 20 are true? (Choose two.) 

A. All the existing sessions that do not use SNAT will be flushed and routed through port1. 

B. All the existing sessions will continue to use port2, and new sessions will use port1. 

C. All the existing sessions using SNAT will be flushed and routed through port1. 

D. All the existing sessions will be blocked from using port1 and port2. 

Correct Answer: AC 

 

QUESTION 5

FortiGate is connected to the internet and is obtaining the IP address on its egress interlace from the DHCP server 

Which statement is due when FortiGate restarts and receives preconfigured settings to install as part of a zero-touch
provisioning process? 

A. FortiDeploy connects with FortiGate and provides the initial configuration to contact FortiManager 

B. The zero-touch provisioning process completes internally, behind FortiGate 

C. FortiManager registers FortiGate after the restart and retrieves the existing configuration 

D. The FortiGate cloud key added to the FortiGate cloud portal and FortiGate performs a factory reset before the restart 

Correct Answer: A 
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